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22.
Convenience sampling

23.
People opposed to the ordinance might be more eager to call than people who agree with the ordinance (response bias - behavior difference).

24.
This is an example of a convenience sample. It might not be representative of the population. 

25.
Stratified sampling

26.
Cluster sampling

27.
5% of 2400 is 120 students.

28.
2102, 2317, 745, 333, 546, 907, 581, 993, 1349, 985.

29.
Selection bias

30. 
Amy’s sample is only from one community college. Her results might not generalize to the larger population of all colleges. 
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33.
0 (they are in different clusters).

34.
Row number 3;  5 students;  3 female students.
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36.
No, we don't know the names of all 40 students.

37.
Stratified sampling

38.
768, 348, 190, 14, 872.

39.
Yes, 0.03 < 0.05

40.
No, 0.03 > 0.01 

41.
9

42.
8

43.
1, 6, 11, 16, 21, 26, 31, 36, 41.
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45.
Stratified sampling

46.
20% of 360 is 72 trees.
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50.
Multistage sampling

51.
1)
Select [image: image9.wmf]1
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 of the cities and [image: image10.wmf]1
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 of the rural areas from each of the geographical zones.  Units: Geographical areas (city or rural area).


2)
Select 25 women and 25 men from each of the cities/rural areas.  Units: People.

52.
Stratified sampling
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54.
Rural Areas:
24 groups of 25 women and 24 groups of 25 men for a total of 1200 rural people. 


Cities:
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